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N OER

TRE i 4 # 1‘% B G | WA | FsA
5000 1 | ARFEBEARZ —1) 1018 Kg

I Ry 2
5000 2 Kg

N2 AR 7 (1.— 36) 11.7
5000 3 Kg

Fp ANRBERFE SR (L —47) 11.9
5000 4 Kg

AR ARREERRE# (1.—52) 8.9
5000 5 | Kg

By AR BEFEF (1.—55) 10.5
5000 6 Kg

F 32 Rl kg 3 (L—57) 10
5000 7 ARFHKE (A—10) 5kg | Kg

Hyh#E MY 5
5000 8 AFRBEEREE (A—1) 45| Kg

Ii=ES EEPEPESke X3 10ke AV 20
5000 9 | i i

NE—r— )L (I R) AR 2 (A—3) 30
5000 10 |_ AMIEBE#AER (A—11) 525 Kg

& A () 0g AV 0.5
5000 11 ) ARIRBR# (A—7)500e | Kg

AT T A — IF1ke AV 1
5000 12 Kg

W< A FIRBEEZR (A—8) 1
5000 13 o ARIRBR# (A—9) §150g | Kg

(R(OTEX) AY 0.09
5000 14 | Kg

L (1) A [FIEBEEME SR (B—2) 3
5000 15 ) Kg

TASN AFIEBERME R (B—7) 1kg AV 1
5000 16 | Kg

LA (i) IR BEsiAs & (B—3) 3
5000 17 Kg

Ak IR RS (C—1) 1
5000 18 | N

ZEiH AFIEBEEMEDR (E—1) 3
5000 19 ‘ S

7p7- 1 T BEiAs & (E—2) 1
5000 20 ) AFIEBERAESR (E—3) 200 A &

NE— (RIEARFEH) ) 2
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TRE i 4 # 1‘% B e | EA | R
5000 21 AFIRBEIRAE R (F—2) 1kg LA Kg

ERA LS TAY 1
5000 22 | Kg

2 CRE () ARDEEE RS 2 (G—12) 1
5000 23 - Kg

J o N () Rl Bk 2 (G —2) 5
5000 24 | Kg

599 AR BE 2R (G—11) 0.4
5000 25 Kg

HUYEH80g AR (H—17) 2
5000 26 Kg

RFY)H80g ARk (H—1) 2
5000 27 Kg

fiEY) & 80g DR BB 2 (H—4) 4
5000 28 Kg

SHHE)H80g DR BB 2 (H—2) 2
5000 29 AR E (H—20)100g | Kg

HII Vi AD 0.1
5000 30 &

TAvv 2 &7 —FR NIRRT (H—9) 40
5000 31 ) AMIEBE#HER (H—18)500g | Kg

PMTIEBENFIEZ (BE) | AL 2
5000 32 \ Kg

im0 AREBE B2 (H—17) 0.5
5000 33 ARRBERIAS R (T—5) /oA A in

TV —7 IV 9
5000 34 o Kg

W7EAZ (5T AFIRBERRE R (S—2) 2
5000 35 B AR BERIASZE (1—8) 3mmAT Kg

g v — A AA500g43 AR 4
5000 36 AFRIRBERASZE (1—9) 3mmAT Kg

KHH A A A500g5 A\ IAH 2
5000 37 |_ . AERBLHIREZE (1-5) 2ke 8 A | Kg

PN DIERA SR A] 2
5000 38 | AR R (1-7)500e% | Kg

IR NG 3
5000 39 Kg

JE 51 ARIpbERiAs R J—4) 1
5000 40 AR BEASE J—3) 60gCa 1

N A 30




N OER

TRE i 4 # 1‘% B e | EA | R
5000 41 _ AIRBERREE R (K—2) Caffiik {1#

LLAEHL EE ik 108
5000 42 o Kg

07 (5 ) A RBE RS2 (L—5) 1
5000 43 ‘ Kg

(5 ) BRI 3 (L—6) 10
5000 44 ‘ Kg

AN FE (PR ) ARl kG 3 (L—18) 2
5000 45 o Kg

T (M) Rl Bk 3 (L—10) 2
5000 46 \ Kg

N2 (IR 1R) DU 2 (L—16) 1
5000 47 Kg

WAL D (HTR) RDF R 2 (L—21) 1
5000 48 | ‘ Kg

7 vyl —(R i) N Y 2
5000 49 ) ARRBERAZE (P—3) 100~1| {#

B0 — R 25ml 36
5000 50 o Kg

IRV AT AR A FIRBERRE DR (L—2) 1
5000 51 ‘ Kg

Y () AR B 2 (L—8) 1
5000 52 o Kg

RN 42 (k) A FIRBERREZR (L—15) 2
5000 53 \ Kg

RAR (4 3) AREkEAR# (L—13) 0.5
5000 54 AMIEBE#HER (L—53) 1kell | Kg

B KAR ~AD 1
5000 55 | Kg

EZL (IR IR) NERBEAE # (L—14) 0.5
5000 56 \ Kg

HR—/a— (IRR) NERBEAE 2 (1L —24) 1
5000 57 &

FEILAIZANZL AFIRBERME R (Q—41) 1
5000 58 | Kg

RRNRE (B NERBEE R (L—17) 1
5000 59 I(ES

HLAZE R BEAS & (Q—40) 1
5000 60 ARRBEASE (T—2) BE & D

IRINAE #1230g7 10— L ASH] 5




N OER

ERE i 4 # % g e | Em | A
5000 61 o &

NWHT Uy A A B2 (M —3) 40
5000 62 » &

18 0K (i) Nl ks 2 (R—6) 40
5000 63 AR (T—4) B | 5

H kT #1250g2->%E(Y 5
5000 64 o ARFREEAE R (P—5)125ml | {#

NAT Y a—RA AD 54
5000 65 . i

Y N N ARG R (M —4) 40
5000 66 | 1

SEIVa—RA ARk (P—6) 48
5000 67 o (e

1OV ) ARG R (R—7) 40
5000 68 AFIREBEIRAE R (O—3) 1ke LA Kg

Y oY) TAD 1
5000 69 | S

Ry — R AFIREBEE R (Q—6) 1
5000 70 i EN

UK BLEHW AFIRBERE R (Q—3) 1
5000 71 . Kg

o) AA—7 (FEAL) NERBERE R (Q—1) 1
5000 72 ) Kg

WERL AN RS L AFIRBERAE R (Q—19) 1
5000 73 VN

HOPpDIF AR 2 (Q—22) 1
5000 74 ARIFRBERAS R (Q—24) 14AK /N

FARL — — A 350~400mlAY 2
5000 75 VN

r~htEa2—L R BEAS 2 (Q—9) 5
5000 76 ) 1

MM yo 7 R BEAS R (Q—8) 2
5000 77 Kg

JL—L I BEAS R (Q—28) 2
5000 78 Kg

NYTILT I BERAS 2 (Q—35) 1
5000 79 ~ VN

B0 A SRR I BE A R (Q—14) 1
5000 80 i 1

ZLxo(H) AR 2 (Q—16) 1
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ERE i 4 # e B L | WA | R
5000 81 o ARFBESE# (Q—32) 1LAR Ve

LT Ry T (i) [y 1
5000 82 o AR R (Q—32) 1LAK |

HLERL Y o7 (BiER)  |[hy 1
5000 83 L N

~I3 3 —R ({Khrl)—) AR (Q—11) 4
5000 84 | AR E (Q—10) 1kgA| Kg

72LANY B ) 3
5000 85 ; PN

BFEEE ARG (Q—13) 1
5000 86 | PN

BT D AR 2 (Q—26) 1
5000 87 AR (Q—38) =% Kg

RUARY —ADFH £ —fih 1
5000 88 R 1

DVTF=FZ 500F ARG (Q—29) 40
5000 89 1

LRINSDMT A FIRBEREZR (Q—30) 40

- U TR E -
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